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2023
ECONOMICS
( Honours Generic/Regular Course )
Paper : ECO-HG/RC-4016
( Principles of Macroeconomics—II )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
SO 2PIRY e for

(a) Define LM curve.
LM @3] vigeel o |

(b) What is the condition for equilibrium in
the money market?

T TSR SRPTeR 56 & 2

A23/888 ; ( Turn Over )




(c

(@

(e)

(9

)

(i)

0
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(2)

Define aggregate demand.

AN oIfRAR ke fea |

What is liquidity preference? \
O oo 7

Give the meaning of cost-push inflation.
J-Ifasfre JErefes o forn |

Why does deflation occur?
SIS R Tew =2

e

What is the meaning of foreign
exchange?

It R T 2

Define hyperinflation.
e JurIfe e fi |

Who gave the concept of Phillips curve?

el RIR 4RI @I SoRGIRRE 2

What is rate of exchange?

R /I &2

( Continued )

(3)
2. Answer the following questions : 2x5=10
OO PR B fod

(a) Explain aggregate supply function.

AN @ T &, 00 7901

(b) Show the differences between demand-
pull and cost-push inflation.

vi-REfe W IW-JFEhe  JurRfe
S NYPPHR (YA |

(0 How does effective demand determine
employment?

fery oifdnR FEcEE et RT3 2

(d) What are the differences between
Current Account and Capital Account?

vlre Ru e TR RorR o NGPIR
foran o

(¢) What are the instruments of foreign
exchange?

et R efEermR 2
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3. Answer any four of the following questions :

o PR R Pl BIfRer T fors -

(a) Give the reasons for shift in the
aggregate demand curve.
T T @ ETERR® RN IRPHR
foran |

(p) What are the weaknesses of IS-LM
model? '
IS-LM f¥0R deropiz & [ 2

(c) Discuss the determinants of inflation.

| TSy RfRIR s 341 |
1 (d) Discuss the working of multiplier in

brief.
B JILCAfE ST A 7 |

(e) What are the characteristics of foreign
exchange market? Discuss.
ot R @ @Fere & R
ST 1 |
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5x4=20

0

(5)

What does the short-run Phillips curve
show?

IR Rferep @ik B cryeam 2

4. Answer the following questions : 10x4=40
G SPIAIRT T ford

(a)

(b)

A23/888

What is effective demand? Explain the
importance of effective demand and its
determinants. 2+8=10

Sy viitm 2 e R @vg W TR
fRefretR e 40 |

Or / 921

Distinguish between aggregate demand
and aggregate supply. Discuss the
components of aggregate supply. 4+6=10

AT SR o AR @6 S 1L
foran | TS oI ToUePTR SACToAT 41 |

What are the features of IS curve?
Explain the derivation of IS curve. 4+6=10

IS @R FPBIER B B2 IS @I =]
e A 90
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(6)

Or / 9dl

Explain the IS-LM model with the help
of diagram. 10

IS-LM =f3eo1 foe siws i 341 |

(c) Discuss the various effects of inflation. 10

TarRIeT RiSH SRR S 41 |

Or / %[l

Write a note on the long-run Phillips
curve. 10

R Rferop @A Racw @b G farn o

(d) How does IS-LM curve explain the
relation between rate of interest and
income level? Discuss. 10

IS-LM Q3R & 309 3o [ 9 AT e
o TN FIRCR 27 A 410 |
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LT

Or / 91

What is Balance of Payments? What are
its components? Distinguish between
Current Account and Capital Account of
Balance of Payments. 2+4+4=10

e el 7 W T &R
@ Ter Sfere o W g 2o
N1 ot |
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